For the following three questions use the nurbered staterments listed and circle the nuraber
which most closely corresponds to what you understand.

The staternent on the left 15 the onby correct staterment
The staternent on the left 15 more correct

Buoth statements are equally correct

The staternent on the right 15 more correct

The staternent on the right 15 the only correct staterment

e

Polar hears are white bears. They live in very snowy places and being whiie allows them io
sneali up on their prey more easily. Biologisis believe that polar bears evolved from hrown
hears. |

1. While polar bears were evolving whik fur:

With each generation raost polarbears 1 2 3 4 5 With each generation most polar bears
were as wlate as their parents had a tiny bit rore white i thewr fur
than thewr parents

2. The trait of white fur in polar hears:

& ppeared i the ancestors of polar 1 2 3 4 5 Appeared in the ancestors of polar
bears becanse they Ined in a snowy bears becanse of a chance routation
place and needed to sneak up on prey

3. The population of polar hears evolved white fur hecause:

The raore successful polar bears 1 2 3 4 5 The less successful polar bears died
adapted to thewr snowry errrorenent without offspnng

4. A number of hacieria populations today are resistant to aniihiotics (chemicals that Idll
hacteria), even though those populations were not resistant to antibiotics when antibioitics
were firstiniroduced. Biologisk believe that aniihiotic resistance evolved in hacteria
hecause: (circle the best answer)

a. Bacteria learned to adapt to their errrrorznent.

b, & few bacteria were probably resistant to antihaotics before thesyr were ever nsed.
c. Barcteria needed to be resistant to antibiotics i order to survmve.

d. Indmadual bacterta built up raraaratsy to antibiotics after being exposed to ther

5. Giraffes with long necls are able o reach food (Jeaves) at the tops of trees. How would a
hiologist explain how long necks evolved in givafles, assuming their ancesiors had shori
necks?



